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In this question you must show detailed reasoning.

Y
A
0 > X
The graph shows part of the curve y = 4? : :
Vx +2 e
X

, the normal to this curve at the point

Find the exact area enclosed by the curve y = :
x +3

(1, 2) and the x-axis. [12]



3
(a) Use the substitution # = x> +3 to show that j \/4;7 dr =3(x* —6)Vx* +3 +c. [5]
X3 These should both give the same
~ answer, but which substitution
3 .
(b) Use the substitution > = x> +3 to show that f 4;: dx = %(x2 —6)Vx>+3 +ec. [5] makes part (c) easier?
1 Vx~+3 _
(C) In this question you must show detailed reasoning.
y
A
0 » X
The graph shows part of the curve y = dx”
VX2 +2 3
Find the exact area enclosed by the curve y = 4; , the normal to this curve at the point
x°+3

(1, 2) and the x-axis. [7]
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